SET9
MODUL OPERASI ASAS

TAHUN 6
NAMA
SEKOLAH
L
Uk~ dan EQ ‘&
168 998
2 500 000 + 465
3 575432 dan 322 321
4 143 252 + 269 458
5 468912 + = D 769 634
6 500 000 - 300 000
T 335 614 tolak 231 403
8 334 615 - 165 349
9

Berapakah lebih manik merah daripada manik biru?

MANIK MERAH MANIK BIRU
600 000 209 821

10 L] - 165723 = 314 313
1" 20000 X 2
12 214 X 3
13 6452 X = C] 645 200
14 423 X = C] 423 000
15 6543 X 20
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182 920 biji guli
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17 196 725 + 25

18 32607 + 1517 X 4

19 6270 + 5 - 38
20 13 X (354 + 34)




